5 major categories of ratios 
Profitability Ratio
Efficiency ratio
Gearing
Liquidity   Investment 
The definitions and formula for calculating ratios:

A. PROFITABILITY RATIO

a. Return on Equity =  profit after tax / capital & reserve * 100

b. Return on Capital Employed = 

Profit before interest & tax/ capital employed *100

· (capital + reserves+ long term loans) 
c. Net Profit Margin = profit before Int. & tax / sales * 100

d. Gross Profit Margin = gross profit/sales * 100

B. EFFICIENCY RATIO

a. Stock holding period = stock / cost of sales * 365


b. Debtor Collection Period = Trade Debtors / Sales * 365


c. Creditor payment period = trade creditors / cost of purchase * 365



(some also use cost of sales)

C. GEARING

a. Gearing = Long Term Debt / shareholder fund + long term debt

b. Interest Cover = Profit before tax / interest payable

D. LIQUIDITY TEST

a. ACID Test = current asset – stock / current liabilities

b. current ratio = current assets / current liabilities
E. INVESTMENT RATIOS
a. Dividend per share = Dividends announced/no of shares
b. Dividend payout ratio = Dividend announced/earnings x 100%
c. Earnings per share (EPS) = Total earnings to ordinary shareholders/no of ordinary shares
d. PE ratio (Price/earnings ratio) = Market value of share/ EPS 
OTHER SIGNIFICANT RATIOS
Extended ROE (du pont equation) 
ROE = NI/Equity
= NI/sales x sales/equity
Net profit margin (after tax) x equity turnover
= NI/sales x sales/asset x asset/equity
= net profit margin (after tax) x asset turnover x financial leverage multiplier

Retention(Reserve) = total earning – dividend announced
Retention ratio + payout ratio = 1
Earning Growth = rr x roe (retention rate x return on equity) = (1-payout ratio) x roe
Cash conversion cycle = Stock holding period + debtor collection period – creditor payment period
Sales to capital ratio = Sales(/shareholder fund + long term loans) x 100
Sales per employee =  Sales / no of employee
